£D

KD Campus Pvt. Ltd

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

RRB MOéK TEST-1

1. If A + B means A is the brother of B; A- B
means A is the sister of B and A x B means
A is the father of B. Which of the following
shows that C is the son of M?
(A) M—NxC+F (B) F-C+NxM
(C) N+M-FxC (D) MxN-C+F
2. Which word does not form a group in the
following questions?
(A) table (C) chair
(C) wood (D) cupboard
3.  When the shape below is folded at the
dotted lines, which shape does it produce?

s
© @ (D) @

Directions(Q. no 4-5): In each of the following
question two statements are given, which are
followed by four conclusions (1), (2), (3) and
(4). Choose the conclusions which logically
follow from the given statements.
4. Statements:

No door is dog.

All the dogs are cats.

Conclusions:

1. No door is cat

2. No cat is door

3. Some cats are dog

4. All the cats are dogs

(A) Only (2) and (4)

(B) Only (1) and (3)

(C) Only (3) and (4)

(D) Only (3)
S. Statements:

All greens are blue. All blue are white.

Conclusions:

1. Some blue are green

2. Some white are green

3. Some green are not white

4. All white are blue

(A) Only (1) and (2)

(B) Only (1) and (3)

(C) Only (1) and (4)

(D) Only (2) and (4)

1.

A+Bdirfi; A,BdiHibg A-Bdiridi; A,
B dhcgu g rik A= B dk riRi; A, B di firk g
bue 1 fdldk riRi; c, M dk i+ g\

(A) M—-NxC+F (B) F-C+NxM

(C) N+M-FxC (D) MxN-C+F

fuku e 1 diu&lk "in ,d leg d vrxr ugh wirk
o\

(A) Vcy (B) dlh

(C) ydmn (D) Vvyeljh

utp fn; x; wvikdfr dk fen;Dr j[kvk ij elMk &,] rk
bue 1 dié&lh vidfr cuxi

)

R
(€) @ (D)

0

fun'k (i-1- 4-5) : futufyf[kr 1R;d i*u e nk dFku Vvkj
mld fu'd'k (1), (2), (3) rFk (4) fn; x, mu fu'd"ik
p;u dj tk rifdd -i I dFfiuk dk vulj.k djr g

4.

dFkut dkb njoktk dUik ugh gh
IHh dlk fefyy;k gh

fu"d"
1. dkb njoktk fcYyh ugh g
dib fcYyh njoktk ugh gh
dN fefvy;k dik gh
. IHh fefyy;k dik gh
A) doy (2) rFk (4)
B) doy (1) rfk (3)

) doy (3) rAk (4)
D) doy (3)
dFkut THb gjk uhyk gA

IHO uhyk Biln gA

fu"d"
1. dN uhyk gjk gh
dN Liln gjk gA
dN gjk 1iln ugh gA
. THO TiQn uhyk g
(A) doy (1) rfk (2)
(B) doy (1) rfk (3)
(C) g
( I

A e

— o~ o~ —

AW

C) doy (1) rfk (4)
D) doy (2) rfk (4)

= = = =
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10.

11.

12.

13.

Which number should replace the question
mark in the following table?

17| 8 |5]5
13| 7 |54
6 (12|63
106 |4]|°?

(A) 4 B) 5

(C) 6 (D) 7

If in the word ‘DISTURBANCE’, the first
letter is interchanged with the last letter,
the second letter is interchanged with the
tenth letter and so on, which letter would
come after the letter T in the newly formed
word ?

(A) S B) I

c) T (D) N

If JOSEPH is coded as FKOALD, then
GEORGE will be coded as :

(A) CAKNCA (B) HAKNCA

(C) CBKNCA (D) CALNCA

In a queue, Amrita is 10th from the front
while Mukul is 25th from behind and
Mamta is just in the middle of the two. If
there are 50 persons in the queue. What
position does Mamta occupy in the queue?
(A) 20th (B) 19th

(C) 18th (D) 17th

1
An institute organised a fete. 5 of the girls

1
and s of the boys participated in it. What

fraction of the total number of students took
part in the fete ?
2 13

A 13 B) 75

(C) Data inadequate (D) I}

A man walks 5 km toward south and then
turns to the right. After walking 3 km he
turns to the left and walks 5 km. Now in
which direction is he from the starting
place?

(A) West (B) South

(C) North-East (D) South-West

Look at this series: 544, 509, 474, 439, ...
What number should come next?

(A) 404 (B) 414

(C) 420 (D) 445

Seema is daughter-in-law of Sudhir and
sister-in-law of Ramesh. Mohan is the son
of Sudhir and only brother of Ramesh.
Seema is Mohan’s ..........

(A) sister-in-law (B) sister

(C) wife (D) niece

0.

10.

11.

12.

13.

quufyf[r rifydk e 1°u fplg d LFku 1j diu&lh
Ik pkfg,\

178 |55
137 (5|4
6 12(6(3
106 [4]?
(A) 4 (B) 5
(€) 6 (D) 7

;in DISTURBANCE' "In e igy v{ij dk vfre
v{lj 1 cny fn;k tirk g] nlj v{lj dk nlo v{ij 1
cny fn;k thrk g vij ;0 Qe tijh jork g rk diuglk
v{lj u; xfBr "in e v{lj T d cin vk, xi\

(A) S (B) I

C) T (D) N

;fn JOSEPH dh dV Hi'k FKOALD g_ rk
GEORGE dh dV Hi' ghxh&

(A) CAKNCA (B) HAKNCA

(C) CBKNCA (D) CALNCA

,d drij e] vert leu 1 100 LFfu 1j tcfd edy
1IN 1 250 LR ij g rFik eerk niuk d Bhd chp e
gh ;fn drij e 50 yix gh drij e eerk fdl LFhu 1j

gA
(A) 200k (B) 190k
(C) 180k (C) 170k

,d ILFu ,d mklo wisker fd;k rFlk ymfd;k dk

Hix rFk ymdk dk % Hix mle Hix yr gh dy

5

Nick dk fdruk Hikx mRlo e Hikx fy ;i\
2 13

(A) 13 (B) 20

(C) vkdM vi;lir gA (D) =%

,d 0;0r nffk.k j 5 fdeh thrk g rc og nk;
eMrk gh 3 fdef- pyu d cn og viu ck; eMrk g
rik 5 fdel- pyrk gh vec og viu ikjfid LFu 1
fdl fn'lk e g\

(A) if'pe

() mij&io

bl J[kyk dk n[k
544, 509, 474, 439,

(B) nffk.k
(D) nf{k.k&if*pe

Jkyk dh vxyh B[k Kir djA

(A) 404 (B) 414

(C) 420 (D) 445

Ihek 1/hj dh cg rRk je'k dh Tkyh gh ekgu] 1/
dk cVk rFik je'k dk bdyirk Hkb gA Thek elgu dh &
(A) Tyt g (B) cgu g

(C) 1Ruh g (D) H
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14.

15.

16.

17.

18.

19.

20.

21.

22.

Directions (Q. No. 14-16): Study the following
sequence of digit-letter-symbol carefully and
answer the questions given below:

R*TJL2$D=M#8C%B<K1&AW
PPE+Q@7F6

How many such numbers are there in the
above sequence each of which is
immediately preceded by a consonant and
immediately followed by a symbol?

(A) Nil (B) One

(C) Three (D) Two

Which of the following is sixth to the left of
eighteenth element from the left?

(A) C (B) #

(C) % (D) 8

Choose the word which is different from the
others.

(A) Kiwi (B) Eagle

(C) Emu (D) Ostrich

How many such digits are there in the
number 7346285 which are as far away
from the beginning of the number, as they
will be when arranged in ascending order
within the number?

(A) None (B) One

(C) Two (D) Three

Which one will replace the question mark ?
18 24 1

12 30 16 40 45 8 27

6 8 ?
(A) 18 (B) 12
(C) 9 (D) 6

In the following questions find out the
alternative which will replace the question
mark.

Ornithologist : Bird :: Archealogist : ?

(A) Islands (B) Mediators

(C) Archealogy (D) Aquatic

In the following questions, arrange the given
words in a meaningful sequence and thus
find the correct answer from alternatives.
Arrange the words given below in a
meaningful sequence.

1. Key 2. Door

3. Lock 4. Room

5. Switch on

(A) 5,1,2,4,3 B) 4,2,1,5,3

(C) 1,3,2,4,5 D) 1,2,3,5, 4

The total age of Lucky, Nitya and Vivek is
80 years. What was the total of their ages
three years ago ?

(A) 71 years (B) 72 years

(C) 74 years (D) 77 years

Choose the correct alternative that will
continue the same pattern and replace the
question mark in the given series.

125, 80, 45, 20, ?
(A) S

(C) 10

(B) 8
(D) 12

fun* (i-1- 14-16) : futu v{kjé&vd&irnd d vude
dk é;ku I i< rAk uhp fn; x, i"uk d mUkj nk

14.

15.

16.

17.

18.

19.

20.

21.

22.

R*TJL2$D=M#8C%B<K1&AW
PPE+Q@7F6

Aij fn; x; J[kyk e ,1 fdru vd g ftle ik;d
vd d igy ,d 0;tu rfik cin e ,d ird g\

(A) dib ugh (B) ,d

(C) rhu (D) nk

futu e 1 dku ck; 1 vBigjo d ck;h NB LRku ij g\
(A) C (B) #

(C) % (D) 8

futu e 1 ml “iCn dk p;u dj tk nljk T vyx g
(A) dhoh (B) phy

) ,e (D) “krjex

I[;k 7346285 e ,I fdru vd g t I[;k d
kzwvir 1 mru gh njh 1j k] fEru njh 1j viu vijigh
@e e 0;oflFr fd;k th,xi\

A) dib ugh (B) ,d

(C) nk (D) rhu

futu e diu&lk fodYi 1*u&fplg dk cnyxi\
18 24 1

12 30 16 40 45 8 27

6 8 ?
(A) 18 (B) 12

(C) 9 (D) 6

futufyfkr i"uk e diu&lk fodYi 1*u fplg d LFiu
ij ghxi\

i{lfokkun % i{in % Tjkriofon % \

(A) Ihi (B) eé;LF

(C) 1jkrko (D) tyt;

fuEufyfkr 17uk €] fn; x; "iCnk dk IFd vude e
0;0fLFkr dj rFik fodYik 1 Igh mlkj puh

1. pheh 2. njoktk

3. rkyk 4. dejk

5. [lyuk

(A) 5,1,2,4,3 (B) 4,2,1,5,3

) 1,3,2,4,5 (D) 1,2,3,5,4

yDdh] furR;k rRk food dh dy vk; 80 o' gh riu

o'k igy mudh dy wk; fdruh Fin\

(A) 71 0% (B) 72 0'%

(C) 74 o'k (D) 77 0'k

fn; x; J[kyk e ml fodYik dk p;u dj tk J[kyk e
ektn 1"uokpd fplg d LFu 1 bLreky gixiA
125, 80, 45, 20, ?
(A) S

(C) 10

(B) 8
(D) 12
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23.

24.

25.

26.

27.

28.

In the following alphabet second half is
written first and then the first half is
arranged in reverse order. Then which of
the following will be the 5th letter to the
left of 16th letter from the right?
ABCDEFGHIJKLMNOPQRSTU
VWXYZ

(A) S B) T

(C) P (D) F

Choose the box that is similar to the box
formed from the given sheet of paper (X).

X)

ﬁl

(1) (2) (3) (4)

(A) 1 and 4 only (B) 3 and 4 only

(C) 1and 2 only (D) 2 and 3 only

In a certain code language the word
'LOGICAL' is coded as 'NQIJAYJ'. How will
you code the word FINANCE ?

(A) HKPBLAC (B) HPBKLAC

(C) HKLPBAC (D) HPBKLAC

The cost of food accounted for 25% of the
income of particular family. If the income
gets raised by 20% then what should be
the percentage decrease in the food
expenditure so as expenditure unchanged?
(A) 3.5% (B) 8.33%

(C) 4.16% (D) 5%

Ramesh deposited ¥ 15,600 is a fixed
deposit at the rate of 10% per annum at
simple interest. After every second year, he
adds his interest earnings to the principal.
The total interest at the end of fourth year
is

(A) T 6468 (B) ¥ 6684

(C) X 6864 (D) ¥ 6864

A person cover certain distance by Train,
Bus and Car in ratio 4 : 3 : 2. The ratio of
fairis 1: 2 : 4 per km. The total expenditure
of the fair is ¥ 720. Then, the fare of train is
(A) T 140 (B) ¥ 150

(C) T 160 (D) * 170

23.

24.

25.

26.

27.

28.

futufyffkr o.tetyk e nlj vi/ dk igy fy[k tir g
rek 1gy vi/ dk myv @e e fy[kdj 0;ofLFr fd;
thr gA rc futu e 1 diu&lk v{j nk; 1 160 V{ij
d ck;h wvij 5ok v{kj g\
ABCDEFGHIJKLMNOPQRSTU
VWXYZ

(A) S (B) T

(C) P (D) F

fn; x; dixt x) d "V I cu cDl d lelu vidj
d cDI dk p;u djA

(X)

ﬁl

(1) (2) (3) (4)

(A) doy 1 vij 4 (B) doy 3 vij 4
(C) doy 1 vij 2 (D) doy 2 vij 3
fdlh dV HK'% e "iCn 'LOGICAL' dk 'NQIJAYJ'
d :i e fy[ir gh "iCn 'FINANCE' dk vii dl

o

o

fy X\
(A) HKPBLAC (B) HPBKLAC
(C) HKLPBAC (D) HPBKLAC

,d ifjolj dh vik; dk 25% Hix Hiktu ij [kp ghrk
gh ;fn wvk; e 20% dh ofY. girh g] rk Kir dnft,
0;; lelu j[lu d fy, Hiktu 1j 0;; e dy vik; dk
fdru ifr*kr deh djuh gixi\

(A) 3.5 % (B) 8.33 %

(C) 4.16 % (D) 5 %

jeku z 15,600 I/kj.k C;kt dh 10% okf'td nj
1 ,d [kr e tek djk,A C;ke 1 gb wk; dk og ifr
nlj o' cin ey/u e feyk nrk gh ml piFk 0% d wvir
e feyu okyk C;kt g&

(A) T 6468 (B) % 6684

(C) % 6864 (D) % 6872

,d 0;0r ,d fuf*pr njh Vu] cl vij dij Hjk Qe
4:3:2 wvuilr e r; e djrk gh mud fdjk, dk
vuikr @e’lh 1: 2 : 4 gh dy fdjk;k = 720 g] rk
Jy dk fdjk;k ifr fdeh g&

(A) % 140 (B) ¥ 150

(C) ¥ 160 (D) ¥ 170
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29.

30.

31.

32.

33.

34.

35.

A shopkeeper calculates percentage profit
on the buying price and another on the
selling price. What will be their difference
in profits if both claim a profit of 20% on
goods sold for ¥ 30007

(A) T 200 (B) ¥ 100

(C) ¥ 400 (D) ¥ 150

Two taps are running continuously to fill a
tank. The 1st tap could have filled it in 5
hours by itself and the second one by itself
could have filled it in 20 hours, but the
operator failed to realise that there was a
leak in the tank from the beginning which
caused a delay for one hour in the filling of
the tank. Find the time in which the leak
would empty a filled tank:

(A) 15 hours (B) 20 hours
(C) 25 hours (D) 40 hours
\/8+\/54+\/38+\/108+\/169 =?
(A) 4 (B) 6

(C) 8 (D) 10
Which is the largest fraction among
332 1

8’5’3 % o

A 2 B &

(A) 3 (B) 2

C L D 3

© 5 D) 5

A cylinder and a cone have equal radii of
their bases and equal heights. If their
curved surface areas are in the ratio 8 : 5,
the ratio of their radius and height is:

A) 1:2 B) 1:3

() 2:3 (D) 3:4

A man, a woman and a girl worked for a
contractor for the same period. A man is
twice efficient a woman and a woman is
thrice efficient a girl and ¥ 10,000 were given
to all of them. What is the sum of money
received by a woman and a girl together?
(A) T 5500 (B) ¥ 4500

(C) T 4000 (D) ¥ 6000

In an election among 3 candidates A, B and
C, A gets 50% more votes than B. A also
beats C by 1,80,00 votes. If it is known that
B gets 5 percentage more votes than C, then
find the number of voters on the voting list
(given that 90% of the voters on the voting
list voted and no votes were invalid.

(A) 72,000 (B) 81,000

(C) 90,000 (D) 1,00,000

Ph-:

29.

30.

31.

32.

33.

34.

35.

,d ndiunkj yiHe ifr*kr dh x.kuk] @; eY; 1j rFk
nljk ndiunkj fod; eY; 1j djrk gA nkuk ;fn
¥ 3000 e oLr dk cpu 1j 20% YiHk defu dk nkok
djrk g rk nkuk ndkunkjk Mk dek; x; yibk dk vrj

Kir dift,A
(A) T 200 (B) % 100
(C) % 400 (D) ¥ 150

nk uy fdlh vd dk ,d BF yxirky Hjr gA o nkuk
vd dk vyx&vyx @e'l 5 4.V rfik 20 %.V e Hyj
Idr g] yfdu wiijVj Hy tirk g fd vd e ,d fn
Hn g feld dkj kvd dk Hju e 1 %.V dk viZd
le; yxrk g] ri Kir dift, fd og fNn ml Hj g,
vd dk fdru le; e [yt dj Idrk g\

(A) 15 %V (B) 20 .V
(C) 25 %.V (D) 40 %.V
\/8+\/54+\/38+\/108+\/169 =7?
(A) 4 (B) 6
(C) 8 (D) 10
bue 1 Icl cMh fHiu diu Ih g &
R

2 3
A 3 (B) 5

1 3
€ 5 (D) g

,d cyu rfk ,d "id db viij FT3E vij Apl

lelu g mud 1"Bh; {i=kily dk vuikr 8 : 5 gi] rk
midh =73k o Aplb dk vui krg&

A) 1: 2 (B) 1:

(C) 2:3 (D) 3:

di:',d vir rfk ,d deh IiF ,d Bdnij d
Iflue; e cjicj le; d fy, die djrk gh ,d vineh
dh di;{lerk ,d vijr I nixut g rAk ,d wvijr dh
dk;{lerk ,d yMdh I 3 xuk g] rFk bl die d fy,
mlg ¥ 10,000 fn; thr gA rk Kir dift, Zujif’k e
,d vijr rfk ,d yMdh dk dy Hix fdruk g\
(A) % 5500 (B) % 4500
(C) % 4000 (D) % 6000
,d puto e riu meetnokj A, B rFlk C g] A, B |
50% vf/d er illr djrk g rfk A, C dk 180,00
erk 1 gjiri gA ;fn ;g Kir ghri gk fd B,C 1 5%
vf/d er iklr djr g] rk ernkrk Iph €] ernkrivi
h B[k Kir dife,\ [fnsk x;k g ernkrk Iph d

90% ernkrivk u er fn; rFkk dkb er vo/ ugh g
(A) 72,000 (B) 81,000
(C) 90,000 (D) 1,00,000

09SSS208888

09555108888,




£D

KD Campus Pvt. Ltd

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

36.

37.

38.

39.

40.

41.

42.

43.

A jar contained a mixture of two liquids A
and B in the ratio 4 : 1. When 10 litres of
the mixture was taken out and 10 litres of
liquid B was poured into the jar, the ratio
became 2 : 3. The quantity of liquid A
contained in the jar initially was-

(A) 4 litres (B) 8 litres

(C) 16 litres (D) 32 litres

Two car start from same place at same time.
Speed of first car is 10 km/hr and the speed
of IInd car is 8 km/hr. The 2nd car increases

1
its speed 5 km/hr after each hour. After

how much distance the second overtake the
first?

(A) 90 km (B) 100 km

(C) 180 km (D) None of these

A certain sum amount to ¥ 5,832 in 2 years
at 8% per annum compound interest. Find
the sum.
(A) ¥ 5,000
(C) 5,280

(B) ¥ 5,200
(D) % 5,400

3
A boys was asked to find the value of 3 of

a sum of money. Instead of multiplying the

3 3
sum by s he divided it by s and then his

answer exceeded by ¥ 55. Find the correct
answer?

(A) %9 (B) T 24

(C) X 64 (D) * 13

How many seconds will a 500 metre long
train take to cross a man walking with a
speed of 3 km/hr in the direction of the
moving train if the speed of the train is

63 km/hr?
(A) 25 sec (B) 30 sec
(C) 40 sec (D) 45 sec

The HCF of two numbers is 15 and their
LCM is 225. If one of the number is 75, then
the other number is :

(A) 105 (B) 90

(C) 60 (D) 45

A rectangular lawn 60 m x40 m has two
roads each 5 m wide running between the
park. One is parallel to length and other is
parallel to width. Cost of gravelling is 60
paise/m?. Find the total cost of gravelling
(A) 285 (B) ¥ 300

(C) 275 (D) * 270

An item is marked at ¥ 240 for sale. If two
successive discounts of 10% and 5% are
allowed on the marked price, the selling
price of the article will be

(A) ¥ 205.20 (B) ¥ 204

(C) ¥34.80 (D) ¥ 36

Ph-:

36.

37.

38.

39.

40.

41.

42.

43.

fdlh cruenkn0; A rfk B difed.k4: 1 d vuilr
e Fid 10 yivj fed.k fudkydj mld cny 10 yiVj
nd; B Myu ij cru d fed.k e ;g vuilr 2: 3 e
ifjofrr gk x;i cru e n0; A dh el=k Fitg

(A) 4 yhVj (B) 8 ylVj

(C) 16 yiVj (D) 32 ylVj

nk dij fdIh LRku 1 ,d NiF @e'lh 10 fded-i%. Vi
vij 8 fderi%.Vk dh pty I pyuk wijEdk djrh gh

nljh dij 1R;d %.V d cin viun pky e % fden-
%Wk c<trjh djrk gh Kir dift, fd fdruh njh ij

nljh dij igyh dij dk ik djxi\
(A) 90 fdeh- (B) 100 fdef-
(C) 180 fdeh- (D) bue I dib ugh

dib jik 2 o' e 8% ifro' p@ofys C;kt nj 1
¥ 5,832 gk thrh gA ji*k Kir djA

(A) % 5,000 (B) % 5,200

(C) % 5,280 (D) % 5,400

,d yMd d fdIh jifh dk% Hix dih x.iut dju d
fy, dgt ;I og ml jif*k e g I x.k dju d ct;

g I ol i e Hix n sl rtoilylozi ifj.lied

jif'k e 2 55 dh ofYs gk xbh Igh mlkj dh x.kuk dj
(A) %9 (B) ¥ 24

(C) X 64 (D) % 13

63 fdeli%.Vk dh xfr 1 py joh 500 eh- ych
JyxiMh ,d 0;r & jyxiMh dh "l e 3 fded-i%. Vk
dh xfr 1 py jgk g] dk fdru 1d.M e ikj djxi\
(A) 25 1d.M (B) 30 1d.M

(C) 40 Id.M (D) 45 1d.M

nk I[;kvk dk e- 1- 15 rRk mudk y- 1- 22 gh ;fn
mue 1 ,d I[;k 75 o] rknljh D[;k g&

(A) 105 (B) 90

(C) 60 (D) 45

,d vi;ridlj 1kd 60 el x 40 el- d chpk chp 5
ef- piM nk jir gA ,d jiLrk yEclb d letrj g rFk
nljk pivib d lelrj gh ;f 1R culu dh yixr 60
il ifr ox e g ri dy [kp Kir djA

(A) %285 (B) % 300

(C) % 275 (D) ¥ 270

,dolr di cpu d fy, vidr eY; 2240 j[ik x;
;inovidr eY; 1) @e’lh 10% rFk 5% d nk
@elxr cW fn; thr g] rk ml oLr dk fod; eY;

gixI&
(A) % 205.20 (B) ¥ 204
(C) % 34.80 (D) 36
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44. The sum (101 + 102 + 103 + .... + 200) is
equal to :
(A) 15000 (B) 15025
(C) 15050 (D) 25000

45. A shopkeeper sold goods for ¥ 2400 and
made a profit of 25% in the process. Find
his profit percent if he sold his goods for
% 2040.
(A) 6.25% (B) 7%
(C) 6.20% (D) 6.5%

6

46. Sita's present age is g times of her age at

the time of her marriage and she got married
1

6 years ago. Age of her son is E of her
current age. Find the age of her son.
(A) 2 years (B) 5 years
(C) 4 years (D) 3 years

47. In the given figure, ZADB is :-

e

J48°

U‘

P e T
(A) 144° (B) 132°
(C) 48° (D) 96°

Directions (48 - 50): Two different finance
companies declare fixed annual rate of interest
on the amounts invested with them by
investors. The rate of interest offered by these
companies may differ from year to year
depending on the variation in the economy of
the country and the banks rate of interest. The
annual rate of interest offered by the two
Copmanies P and Q over the years are shows
by the line graph provided below. Answer the
questions based on this graph.

ANNUAL RATE OF INTEREST OFFERED BY
TWO FINANCE COMPANIES OVER THE YEAR

—8—Company P —a— Company Q

12 4
11+
10
9
8 ]
7
6
5 —
4
3 —
2
1 —

0 ; ; ; ; i ; ;
2008 2009 2010 2011 2012 2013 2014
Years

44. (101 + 102 + 103 + .... + 200) dk ;kx cjicj
ghxi&

(A) 15000 (B) 15025
(C) 15050 (D) 25000

45. ,d ndiunij ¥ 2400 e ,d olLr cpu 1j 25% dk
yiHk detrk g] ;fn og oLr dk ¥ 2040 e cp] rk
midk yiH ifr*ir Kir djA
(A) 6.25% (B) 7%

(C) 6.20% (D) 6.5%

46. Ihrk dh orefu vk; midh "lnh d le; dh vi; dk
gx.kk g vij mldh "lnh 6 0" 1o gb FitA Thrk d cV
dh vk; mldh orefu wk; dk %x.kk gh mld cV
dh vi; Kir dhft,A
(A) 2 0'% (B) 50'

(C) 4 0% (D) 3 0%

47. fn; x; fp4 e] ZADB g&

c

J48°
D
p e T
(A) 144° (B) 132°
(C) 48° (D) 96°

fun'k (48 - 50): nk fofHu folkh; dEifu;k viu fuo*kdk
dk ,d fuf*pr C;k€ nj ij C;ke€ dh K'k.k dh A C;kE
dk nj 1f;d o% n'k dh vFO;oLFk rfk cd nj e
fHlurk d dkj.k fofHkiu o'k e vyx&vyx gkrk gh uhp
fn, x, ykou xki) e nk dEifu;k P rik Q }jk fofHku
o'tk e fn, x, okf'kd C;kt nj dk n"krk x;k g b1 xki{
ij vk/kjr ituk d mlkj n

nk follh; dEifu;k Hjk fofHlu o'k e fn;k
X;k okfkd C;kt nj
—=— dEiuh Q

—e— dfiuh P

0 } } } } } } {
2008 2009 2010 2011 2012 2013 2014
0"k
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48.

49.

50.

S1.

52.

53.

54.

55.

56.

If two different amount in the ratio 8 : 9 are

invested in Companies P and Q respectively

in 2014, then the amounts received after

one year as interests from Companies P and

Q are respectively in the ratio :

(A) 2:3 B)3:4

C)6:7 (D) None of these

In 2012, a part of ¥ 30 lakhs was invested

in Company P and the rest was invested in

Company Q for one year. The total interest

received was ¥ 2.43 lakhs. What was the

amount invested in Company P ?

(A) ¥ 9 lakhs (B) ¥ 11 lakhs

(C) ¥ 12 lakhs (D) None of these

A sum of 4.75 lakhs was invested in

Company Q in 2011 for one year. How much

more interest would have been earned if the

sum was invested in Company P ?

(A) % 19,000 (B) ¥ 14,250

(€)X 11,750 (D) None of these

Brass gets discoloured in air because of the

presence of which of the following gases in

air ?

(A) Oxygen

(B) Hydrogen sulphide

(C) Carbon dioxide

(D) Nitrogen

Guarantee to an exporter that the importer

of his goods will pay immediately for the

goods ordered by him, is known as

(A) Letter of Credit (L/C)

(B) laissezfaire

(C) inflation

(D) None of the above

Which of the following is a non metal that

remains liquid at room temperature?

(A) Phosphorous (B) Bromine

(C) Chlorine (D) Helium

Who among the following Prime Ministers

of India never had to seek trust vote (vote

of confidence) from the Lok Sabha?

(A) Indira Gandhi

(B) P.V. Narasimha Rao

(C) H.D. Devegowda

(D) Manmohan Singh

Chlorophyll is a naturally occurring chelate

compound in which central metal is

(A) copper (B) Magnesium

(C) iron (D) Calcium

Exposure to sunlight helps a person

improve his health because

(A) the infrared light kills bacteria in the
body

(B) resistance power increases

(C) the pigment cells in the skin get
stimulated and produce a healthy tan

(D) the ultraviolet rays convert skin oil into
Vitamin D

Ph-:

48.

49.

50.

S1.

52.

53.

54.

55.

56.

st nk fofHlu ji*k 8 : o d vuikr e @e™h dEifu;k
P rAk Q e 0% 2014 e fuof'ir fd, x, g] ri 0" d
vr e niuk deifusk Prik Q 1 C;kt d -1 e ilr
giu oky ji°k dk vulkr g

(A) 2:3 (B) 3: 4

(C)6:7 (D) bue 1 dkb ugh

0'k 2012 e] * 30 yi[k dk ,d Hix dEiut P e rFik
"'k Hix dEiuh Q e ,d 0% d fy, fuof'ir dhi xbA

dy C(;kt T 2.43 yi[k ikir gvk A dEiuh P e
fuof*kr jk*k D;k F\

(A) T 9 yi[k (B) T 11 Yi[k

(C) T 12 W[k (D) bue 1 dkb ugh

0'f 2011 e %4.75 yi[k dh jif*k ,d o% d fy,
deiun Q e fuof*tr fd; x;A ;fn ;g ji°k dEiuh P e
fuof*kr dh xb girh rk fdruk vi/d C;kt feyrk \

(A) ¥ 19,000 (B) ¥ 14,250

(C) T 11,750 (D) bue 1 dkb ugh

ok; e mifLFr futu e 1 fdl x1 d dij.k rick jxghu
ok thrk g ?

) viDIhtu

) gibMiktu 1YigoM
) dicuMib viD IkoM

) UkbVktu

,d viskrdUk Wik fuskrdli dk fn; tiu oky og
ijh fele olr exiu d rjr cin Hxriu dj fn;k

(
(B
(C
(

Xtk tirk g&
A) "Lk (L/C)
B) yltiQ;j

C) enk&Lififr

D) mijior e 1 dib ugh

fuku e 1 diu&lk og v/ir g tk lell;

n0; voLFk e 1k;k tirk g »

(A) 10Litkjl (B) ckfeu

(C) Dyifju (D) fgyh;e

Hijr d futufyflir e 1 diu&l 1/kuedh di ykd& IHk

e dHi Hh fo"okl er ugh ekxuk TM\

(A) bfnjk xk/h (B) ih- of- ujflg jlo

(C) ,p- M- noxiMk (D) euegu flg

Dyijifity ,d iiNfrd zi 1 ikk tu oyt fdyV

;iixd g ftle din; inif g&

(A) rkck (B) eXuf'k;e

(C) yigk (D) dfYl;e

I; dkidi*k fdlh 0;fDr d LolLF; dk 1/ijrk g D;kd

(A) “kjhj e miflFr cOVAfj;k dk vojDr fdj.k efjrh gA

B) ifrj{lk “Dr dk c<irk g

(C) Ropk d o.kd dif*kdkvk rHk LolLF;
o/u d fy,

(D) voj0r fdj.k fopk d ry dk foVifeu D e ifjofrr

djr gA

(
(
(
(

riielu ij

“ihj d
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57.

58.

59.

ol.

62.

63.

64.

65.

67.

68.

Which of the following is used in pencils?

(A) Graphite (B) Silicon

(C) Charcoal (D) Phosphorous

The item ‘Education’ belongs to the

(A) Union List

(B) State List

(C) Concurrent List

(D) Residuary Subjects

The gas usually filled in the electric bulb is

(A) Nitrogen (B) Hydrogen

(C) carbon dioxide (D) Oxygen

Quartz crystals normally used in quartz

clocks etc. is chemically

(A) silicon dioxide

(B) germanium oxide

(C) a mixture of germanium oxide and
silicon dioxide

(D) sodium silicate

Bromine is -

(A) black solid

(B) red liquid

(C) colourless gas

(D) highly inflammable gas

FFC stands for

(A) Foreign Finance Corporation

(B) Film Finance Corporation

(C) Federation of Football Council

(D) None of these

The hardest substance available on earth
is

(A) Gold (B) Iron

(C) Diamond (D) Platinum

Tetra ethyl lead is used as

(A) pain killer

(B) fire extinguisher

(C) mosquito repellent

(D) petrol additive

Eritrea, which became the 182nd member

of the UN in 1993, is in the continent of

(A) Asia (B) Africa

(C) Europe (D) Australia

Which of the following is used as a

lubricant?

(A) Graphite (B) Silica

(C) Iron Oxide (D) Diamond

The gases used in different types of welding

would include

(A) oxygen and hydrogen

(B) oxygen, hydrogen, acetylene and
nitrogen

(C) oxygen, acetylene and argon

(D) oxygen and acetylene

The property of a substance to absorb

moisture from the air on exposure is called

(A) osmosis (B) deliquescence

(C) efflorescence (D) desiccation

Ph-:

57.

58.

59.
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61.
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68.

ifily e futu e 1 D;k 15k girk g 2
(A) Xi(ibV B) flfydiu
(C) pljdiy (D) iQLigl
MUk bue 1 Icf/r g&

(a) 17%; 1p (B) jiT; Iph

Q) Ieorh Iph
fo]r cYc e lkell;rk Hyjh
(A) UkbVktu

(D) vof KV fo'k;k
tu okyh x1 g&
(B) gibMitu
(C) dkcu Mib wiD IkbM (D) viDIhtu
Dolvt %fM;k e Hkell; =1 1 blreky fd;k thu okyk
Dolvt fAlVy g &
A) flfydiu MbwiD ItoM
(B) tefu;e viDlbM
(C) tefu;e viDHOM rRk flfydiu MbwiDIbM dk

fed.k
(D) liiM;e flfydv
cifeu g&
(A) dkyk 1RF (B) yky n0;
(C) jxghu x1 (D) vir Toyu*iy xI

FFC rifi; g&

(A) Foreign Finance Corporation
(B) Film Finance Corporation

(C) Federation of Football Council

(D) bue 1 dib ugh
iFoh ij miflFr Rcl dBlj iniFk g &

(A) Thuk (B) Yigk

(C) gnjk (D) lyfVue
Wk kak y yM i1;kx fd;k tiri g &

(A) mn “lied

(B) vau led

(C) ePNj eljd

(D) iViy Ixyun

bfjfvij;k & fd 1993 e I;Dr jk'V 1% dk 1820k
InL; cul fdl egi}hi e g \

A) L,k (B) Vvfildk

(C) ;jhi VILVEy ;¥

futu e I diu&lk Lugd d :i e i;kx fd;k tirk g?
(A) xifibv (B) flfydk

(C) Vi;ju vIiDLbM (D) onjk

ofYMx d fofilu idijk e
"lifey gk k &

1;kx fd;k thu oty xIk e

(A) viDIitu ,0 glbMitu

(B) viDI tu] g bMktu] ,Ithfyu rHk ukbVitu

(C) viDInty] , thfyu rFk

(D) viDIntu rrk , Ifviyu

gok I ueh dk v kkf fr dju oty inkFk d x.k dk dgk
tirk g &

(A) 1jklju (B) iLonu

(C) mRidyu (D) fldMuk
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69.

70.

71.

72.

73.

74.

75.

76.

7.

78.

79.

Galileo was an Italian astronomer who

(A) developed the telescope

(B) discovered satellites of Jupiter

(C) discovered that the movement of
pendulum produces a regular time
interval

(D) All of the above

In which of the following activities silicon

carbide is used?

(A) Making cement and glass

(B) Disinfecting water of ponds

(C) Cutting very hard substances

(D) Making casts for statues

The average salinity of sea water is

(A) 3% (B) 3.5%

(C) 2.5% (D) 2%

On which date, the Indian Army Day is

celebrated ?

(A) January 15 (B) January 21

(C) January 11 (D) January 18

Which of the following cities is the host for

the 66th Senior National Basketball

Championship for Men and Women ?

(A) Allahabad (B) Mysore

(C) Ludhiana (D) Kolkata

When an iron nail gets rusted, iron oxide is

formed

(A) without any change in the weight of the
nail

(B) with decrease in the weight of the nail

(C) with increase in the weight of the nail

(D) without any change in colour or weight
of the nail

How many zones in Indian Railway ?
(A) 18 (B) 16
(C) 14 (D) 15

Grand Central Terminal, Park Avenue, New

York is the world’s

(A) largest railway station

(B) highest railway station

(C) longest railway station

(D) None of the above

The variety of coal in which the deposit

contains recognisable traces of the original

plant material is

(A) bitumen (B) anthracite

(C) lignite (D) peat

Entomology is the science that studies

(A) Behavior of human beings

(B) Insects

(C) The origin and history of technical and
scientific terms

(D) The formation of rocks

Garampani sanctuary is located at

(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim

Ph-:
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70.

71.

72.
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74.

75.

76.
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79.

xyfy;k, bey u [kxkyfon Fik ftlu

A) nyLd dk vifo"dij fd;k

(B) cgLifr xg 1j mixgk dk [t fd;k

(C) [kt fd;k dh iMye dh xfr Ino lelu vrjty

n"lkrh g

(D) mijiDr Hh

fuku e 1 diu 1 xfrfof/;k e flfydiu dicibM dk

i;kx fd;k tirk g &

(A) fleV vij dip d fuek.k e

(B) riykc d ty dk fo'lk.k jfgr dju e

(C) cgr dBlj iniFk dk divu e

(D) ifrek fuek.k d

len d ty dh vk

A) 3%
)

lip culu e

r yo.lrk g &

( (B) 3.5%
(C) 2.5% (D) 2%
Hijrh; Fey Buk fnol fdl fnu euk;k
(A) 15 tuojh (B) 21 tuojh

(C) 11 tuojh (D) 18 tuojh

1'% rRk efgykvk d 660 Bhfu;j ji'Vh; ci.dV cly
ifr;iixri dh etciut fueu e 1 diu Bk "lgj dj jok g

trk g ?

(A) hyfgicin B) elj

(C) yf/;kuk (D) dkydirk

tc yig dh dhy e tx yx tirk g rk vi;ju viDlibM
curk g &

(A) dy d Hij e dib ifjoru ugh ghrk

(B) diy d Hij e deh girk g

(C) diy d Hkj e of¥ girk g

(D) dhy d jx rFik Hij e dib ifjoru ugh ghrk
Hijri; jyo e fdru thu g »

(A) 18 (B) 16

(C) 14 (D) 15

xt.M 1Vy Vfeuy] ikd ,oU;] U;;kd nfusk dk g&

(A) Icl cMk jyo LV

B) Icl mpk jyo LV'u

(c) Icl yEck jyo LV

(D) mijidr e 1 dkb ugh

di;y dk og idkj feld ijrk e igpluu ;K; ey
ouLifr iniF d wvo''k ektn gir g&

(A) feVfeu (B) , kDb

(C) fyXukoV (D) 1V

,Vietykth og fokiu g ftle i<k tirk g &

(A) eu"; dk LoHko

(B) div

() rduhdh ,0 oKifud *icnk dh miflk ,o bfrgkl
(D) pWiuk d cuu dh ifd;k

xjetkuh wH;kj.; fLFr g

(A) Tukx<] xtjir

(B) nhi(] vle

(C) difgel] ukxty .M

(D) xxVkd] flfDde
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For which of the following disciplines is

Nobel Prize awarded?

(A) Physics and Chemistry

(B) Physiology or Medicine

(C) Literature, Peace and Economics

(D) All of the above

The inert gas which is substituted for

nitrogen in the air used by deep sea divers

for breathing, is

(A) Argon (B) Xenon

(C) Helium (D) Krypton

Hitler party which came into power in 1933

is known as

(A) Labour Party

(C) Republic Party

(D) Democratic Party

Fastest shorthand writer was

(A) Dr. G. D. Bist (B) J.R.D. Tata

(C) J.M. Tagore (D) Khudadaf Khan

What is the name of the new crop insurance

scheme approved by the union cabinet ?

(A) Mahatma Gandhi Fasal Bima Yojana

(B) Atal Fasal Bima Yojana

(C) Pradhan Mantri Fasal Bima Yojana

(D) Deen Dayal Upadhyaya Fasal Bima

Yojana

Epsom (England) is the place associated

with

(A) Horse racing (B) Polo

(C) Shooting (D) Snooker

First human heart transplant operation

conducted by Dr. Christiaan Barnard on

Louis Washkansky, was conducted in

(A) 1967 (B) 1968

(C) 1958 (D) 1922

Habeas Corpus Act 1679

(A) states that no one was to be imprisoned
without a writ or warrant stating the
charge against him

(B) provided facilities to a prisoner to obtain
either speedy trial or release in bail

(C) safeguarded the personal liberties of the
people against arbitrary imprisonment
by the king’s orders

(D) All of the above

Golf player Vijay Singh belongs to which

country?

(A) USA (B) Fiji

(C) India (D) UK

Which of the gas is not known as green

house gas?

(A) Methane

(C) Carbon dioxide

(B) Nazi Party

(B) Nitrous oxide
(D) Hydrogen

Ph-:
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fuku e 1 fdl fo'k;k e ukcy ijLdkj fn;k
(A) Hifrd ,o jlk;u

(B) filft;kykth ;k fpfdRlk

(C) NKgR;] "Wfr rFlk WFCHL=K

(D) mijiDr Hh

Ikl yu d fy, xgj len e xkri[ijk Hgk i;hx fd;k
tu okyk gok e ubVitu dk ifrLFifir dju okyk

tirk g ?

fuf'd; xI g

(A) Vixu (B) "lhuku

(C) fgyh;e (D) f@IViu
fgvyj dh ikvh tk 1933 e MUk e vi;h Fit &
(A) yCJ Tivh

(B) ukth Tkvh

(©) ijnyd 1Vh

(D) Mel@tvd 1k

Icl rt "Wg.M fy[lu oty 0;r F&

(A) Mk €h Mh- fcLV (B) t- Vij- M- VAVK

(C) t- ,e- Vxij (D) [knknkn [Hku
dinh; e=iheMy Hjk Lohdkj dh xb ub 100y chek ;ktuk
du lkg »

(A) egifek xk/h 101y chek ;ktuk

(B) vy 1(ly chek ;ktuk

(C) i/lu edh i Qly ch ks ktuk

(D) niu n;ky mike;k; 100y chek ;keuk

ke (by.M) 1 tM gVvk LRlu g &

(A) AM niM (B) 1kyk

(C) fu™fhucktn (D) Ludj

gyt efuo gn; iR;kjki.k "kY; fpfdRIk Mk f@fLV;hu

cutM Hjk ybl olLdiiLdh ij fdl o' fd;k x;k Fi\

(A) 1967 (B) 1968

(C) 1958 (D) 1922

gfc; 1 dkil Zijk 1679 &

(A) d vully fdlh Ha 0;fDr dk fcuk wijki of.kr fjVv
;holjv d ty ugh fd;k € IdriA

B) fdlh dnh dk ;g Mo/Zk nrk g fd ;k rk ml
telur ij NIM fnsk &, ;k Buokb tYnh fd;k

t,A
(C) "kId d wvin'k I eueluk dijtokl d f[kyki(
yixk dh 0;fDrxr Lor=krk dh j{lA
(D )mijkDr I HivA
XkYi) f[kyivh fot; flg dk Ic/ fdl n*k I g ?
(A) 1;Dr jiT; wefjdk (B) filth
(C) Hijr (D) ;ukbVM fdxMe
diu Ih xI xtu giml xI d -1 e ugh thuh tirh g?

(A) feFu
(C) dkcu MkowiD IkbM

(B) ukoVIl viDHibM
(D) gibMktu
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Who was the first Indian to become member
of British Parliament?

(A) W.C. Bannerjee

(B) Behramji M. Malabari

(C) D.N. Wacha

(D) Dadabhai Naoroji

Which British Military Officer defeated Tipu
Sultan in India, Napolean Bonaparte in
Europe and eventually became the Duke
of Wellington?

(A) Arthur Wellesley
(C) Warren Hastings

(B) Robert Clive
(D) Richard Wellesley

The Chola kings were ruling over
(A) Tamil Nadu (B) Andhra
(C) Kerala (D) Bengal

On the tributary of which river has Rihand
Dam been constructed?

(A) Chambal (B) Yamuna

(C) Son (D) Periyar

Which one of the following countries does
not border Lake Victoria?

(A) Kenya (B) Tanzania

(C) Uganda (D) Zambia
Washing soda is the common name for

(A) Sodium carbonate

(B) Calcium bicarbonate

(C) Sodium bicarbonate

(D) Calcium carbonate

Which one of the following zones of the
atmosphere is rich in ozone gas?

(A) Mesosphere (B) Troposphere
(C) Stratosphere (D) Ionosphere
What is the maximum time interval
permitted between two sessions of
Parliament?

(A) 4 months (B) 6 months

(C) 8 months (D) 9 months
Which one of the following lakes in the India
has the highest water salinity?

(A) Dal (B) Chilika

(C) Wular (D) Sambhar
Which of the following metals forms an
amalgam with other metals?

(A) Tin (B) Mercury
(C) Lead (D) Zinc
Chemical formula for water is

(A) NaAlO, (B) H,O

(C) Al O, (D) CaSiO,

Ph-:

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

fcfv™k 1lIn dk InL; cuu okyk igyk Hkjrh; diu Fi\
(A) MCY;- It cuth

(B) cgjleth ,e- ekykckjh

(C) Mh- ,u- okpk

(D) nknkHikb ukjkeh

og diu fefv'k 1U; wvi/Zdijh Fik felu Higr e Vhi

IYriu dk rFk ,j e uikfy;u clukikv dk gjk;k rik
virrh M;d vk ofyxVu cui\
(A) VIFj oyLyh (B) jicV Dytbo

(C) okju gfLVx
ply jktovk dk "lklu Fik

(D) fjpM oyLyh

(A) rfey uiM 1j (B) VI/ ij

(©) djy 1ij (D) cxty ij

fign ci/ fdl unh dhb Igk;d unh 1 cuk;k x;k g\
(A) pcy (B) ;eut

() lu (D) ifj;kj

futufyf[kr n"lk e 1 diu&lk ,d foDVifj;k >hy |
Ihelort ugh g\

(A) du;k (B) rthfu;k

(C) 5 xk.Mk (D) thEc;k

/lou Mk dk jklk;fud uke g &

(A) IiiM;e dickuv (B) dfYl;e cibdiciuv
(c) IkiM;e clbdickuv (D) dfYl;e dickuv
futufyf[kr e 1 diu&lk ,d ok;e.Myh; tiu vitiu
xI 1 le¥ g\

(A) eé;e.My (B) {lkHe .My

() lertie.My (D) Vk;ue.My

IIn d nk Ik d cip fukufyf[ir e 1 viZd 1

vi/Zd fdru le; dk virjy fn;k € Idrk g\
(&) 4 el (B) 6 ell
(C) 8 ekl (D) 9 ekl

Hijr e futufyf[kr e 1 diu&lh ,d >ty e ty dh
yo.lrk vi/dre g\

(&) My (B) fpfydik

(C) oyj (D) HiEH

futu e 1 di&lk Zkr nlj Zkr 1 feydj fed.k cukrk
g2

(A) fVu (B) 1kjk

() Ihlk (D) ftd

ty dk jklk;fud 140 g &

(A) NaAlO, (B) H,O

(C) ALO, (D) CasSiO,
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